29
100

0.29

-

ull




2 UehjAe.

3.35




258 A2 Uetd o, A5 4 Z27F 0%] = o=
AJY7t?
204 26 7032 8 307
O — @ — o — —
100 1000 1000 100 1000
204
=204
@ 100
26
—— =0.026
@ 1000
7032
—= =7.032
® 1000 .03
8
@ = =0.08
® 307 =0.307

1000




15 7R

ul
RO

.l

>

-
H T
© oo

—|2 3|2
BB

012 E271 109 B2 ey
=

J8Be2 g2 15709yt




& ol AYU7R

al

K
.

oA &1k

No
™

G

2 b

il
W

<4
ol

1.03

103
1000

103
100

®

10.3
100

©)

1.03
100

1.03
10

A4 5 Ae] 45 2071009




7k?
38 107 25
® 100 —258 @ 1000 —0.71(')74 ® 1.025 1m
0.80=— 2704=2——
® 100 © 1000
107
® — =10.107

1000




4

©)

°F0.59] Bl 0.5 =

4
10

.

ul

A

.

ull




il

o
olJ
NI

» |3

2
10

1x2 _
5%x2
wtabq @A Y.

3
15




9.

oFg S 4 Aol ol LS %
A2 ol AYUIA?

| | | | | | | | | | L
< T T T T T T T T 1 —>
1.31 S 1.392

37 9 79

S8 9 79

v g 2 @15

@ 1% ® 1m
001 105E StPL R &3 72

1
—— T=0.001% ]
1000 0.001 AT

o 19
e @ 1316 =1 21Ut}




|r

®3+11=0.272---

s 245 5 252 132 o, A2t 38 Uehd & e A2
ZARIZ] I2A| Q.
1 4 6 3 3

3 @5 o: @ © o
D1+6=0.166---

@4+9=0444---

®6+7=0.857"--

@ 3+8=0.375




9.642
321 161 321
©) 95§? @) 9552— ® 91666
@ 9656 ® 96366
42 21
9.642 = 96— = 93

1000 500




12.

0.15 1 0.95
35 15
100 (2) ST)
25 25 75
0.4, — 0.45, — 0.45, ——
’ ’ lqgi - 7 %%? ° 100
0.55, — 0.55, —
@ 100 © > 100

~&B

Aot B4} Mzoh hem

= 20 4 A FHQU,
35 20 55

100 T 100 ~ 100 = *9°

0.2(

0.55 +0.2 = 0.75 = >

100




iy

vV V¥
0

AL

A

75

= olmg
00 =0.75 °] 0.25 < 0.75

e
1




® 0.45

@ 0.7

® 0.56

0 |[©

2
)

0.833---

AN O 10 |[©




st o] K& oz watdo] 0.8km Al 2 ,611-3!_9]
Ago] -k Aol Qe SHaelA ol Fo] ¥ 71

HEAA
= 100

17010 _0.71 olBZ 087} 0718 A2 AAAa A B @A
0718 A&UT ooz shie]q Mebd Ae R LA

Az7t o Vg,




16. o= o] g5 22 A L.

>
[> ®eh: 0.9375

1 1 1 1 8 4 2 1 15
27178 16 16716 1616 16
15  15x625 9375

16 16x625 10000

= 0.9375




17. 2ErbBAuc 5 E 21, 252 ehf#l 08 9 24 ol

Y7o

10 15 20 25 30
O @5 Wyp &5 0O

A

B

1028 Do sge i) "oiA4) ghgint,

157 307 35
15 20

= 0.75, =0.8°|2=
20 25 ]

‘5’%2—5‘?3‘411}.




5m 2] 2|2 FoA 1

18.

m A 242 YERHALL,

™
=

ol

2l

el

A

1.6m

-

ul

A

ol




19. ©heo] 4 FolA 7 2 S ol AU

© 145 @ 1% ® 1% @ 1.17

%
1= =14
@ 5
3
15 =1.
® i 75
3
1— =1.15
© 20




20.

i
mlo
A
ol
=2
>,
u
N,
N
N
ol

u
PO
rlo
2
in
pa
rl
i
N,

D

22741009 242 Hro|

75
D 100

60
D 100

20
® 100

80
D 100

87
© 15g O1E= 7P 2 = 2A7F 87 0.87 AU




7101z LA 2

® 0.07 @ 0.458 @2

=0.625 0| B2

OOIU‘

=0.2

—

043<0458<— Ayt

S o~

07<-<

ot




2 9AE BT, Ue A BAY L FolA

ZHUth 2oL B 7 Ae)} b BEUR

T

N

¢

)
)
(i

1 i}
1= 0.25, 2—70 =0.35 o|B2 HA A2 ¢] 0.25 T
et 7+ A7 7 A5yt




23.

>
o
o
rr
2
)
o

e o) AH) Ag o) § L )3t g, A7) Ag

£ A0, 47 72k £ W AE Bba Zhgth 4007} 714

i S‘»—l

>
> & 168km

1_2_l:§_E_l:£:2011
3 21 21 21 21 21 7

o]Zlo] 72km °|B& HA A=
(72 + 2) x 7 = 252( km)
wtebA], 713HE B 7 AR

2 84 9
252 x 5 = 257 X 5= 168 (km)
1




24. 0.52}0.7 Atolof] Q= &= FollA BR7F 500 A 22t} o 2%
o] 2] 2] ks =71 obd Z12 o ZRIA] A EA L.,

27 29 33 34
O @5 ®% D5 Wy

B ~

25 35
05==—,07=>"
50’ 50
25 35 26 27 28
= — Atolo] Qe B4 F BT 5090 B4E
= Folef QL T 5 F 50 =50 50

29 30 31 32 33 %011/]1:]-

5050 50 " 50 ° 50 ° 50
1w%ﬂIfEﬂﬂLéiEH#ﬂﬂﬂ@%%ﬂ%é,
i} 27 29 31
7] oF T,lf’__/\_E_ Z} O 111 O
IFEFERR 5 1 50 50 A4




25. & $oIA 3500 M TR S ol AR

27 2 _11 45
3—,3

3 310 %1 120

45 11 2 27
@ 3.35 @ 5 ® 3735 ® 375 @g

~&B

27 .3
S =35 =337
2
3.5 =32
3% =0 12 i 2;? =0 160807050 = 3.0875
451
D=2 s oars
3.5 — 3.375 = 0.125, 3.6875 — 3.5 = 0.1875




